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Unless otherwise noted, all commodities are assumed to be income normal. All firms are assumed to be profit-
maximizing.
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Number of pages: 14. Check the pages before you start. (A2 X & —3k 14 W, AEFHEEMZ AT H L4 HIN)

Total score: 100 points (i# 2> 100 %)
- PR (AFEARARELEHEELGLA, 30%x2")

1. A competitive, cost-minimizing firm has the production function f(x4,X,) = 2x4 + 3x,. It uses positive
amounts of both inputs to produce y* output units, at a cost denoted by C*. Now suppose the price of x;
doubles and the price of x, triples. What will be the cost of producing y* output units?

BIXTEEFTHPHERS LA F REA(x,,X,) = 2X; + 3Xp0 BIEME LI, KA B AL
Rt EERE T y* 258y T o, BAZRAN Cre AAERXER I UMK TAZIATHARE, &
F2OMREANZATN=AZ, AL AL y* IR AK LR

A, C*
B. 2C*
C. 3C*
D

. 0, because the firm will shut down (== # 0, &R K £ LT R)

2. Which of the following statements is False?
T 3 AR — i TP G TR A TS IR A 69 7

A. Colluding firms will make as least as much profit as they would if they conduct Cournot competition

(Gt 4ok 49 3 A AR T € AT 34T 3 5E 4 B0 PRI 60 % 41)

B. A Stackelberg leader will make at least as much profit as he would if were a Cournot duopolist (7%

FAGRE AR5 6 AV IR TAK T € A2 AT & 75 5T F I BT RAR 69 A1)

C. If a profit-maximizing competitive firm has constant returns to scale, then its long-run profit must be
zero (R E R T L F D LAGHABRBM AT, AKX KL LaGKANZFAIEN 0)

D. If the production function production f(xq,X,) exhibits increasing-returns-to-scale, the marginal
product of x; can not diminish as x; increases (%= &£ = H K f(xq, x,) 9 ALIR BN 538 A 2 &
F 1 AR E— R IBR)
3. Afirm’s production function is given by f(x;,x;) = Xi/ 3X;/ * The price of output is 1. The prices of factors
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1 and 2 are w; and w,, respectively. What is the profit-maximizing level of input x,?

Ak R HA(R,x,) = X07xy2, ERBRAEA 1, BE 1 FBE 2 GRS A H o Fw,.
A AFLER KA BF 1 BAESY 2

A. 1/(9wiwl)

B. 1/(9w;w3)

C. 1/Q27w,w3)

D. 1/(27w%w,)

Suppose that the production function is f(x1,X5,x3) = (x¥ + x$)PxY, where o, B, and y are positive
constants. For what positive values of a, B, and y are there increasing returns to scale.

A BNy, x5, %3) = (X +xDBxY, Lo, B, y¥HHEHK. TER—FHERIE, %A 5 HK
it AL IR BN 2 3 2

A, afy>1

B. af+y>1

C. a+B+y>1

D. None of the above (L i & 7 4 T~ 4F)

Consider the following game, where each player has three possible strategies.

Player B
Bl B2 B3
Al 54 3,0 4,2
Player A A2 33 8,4 2.4
A3 5,0 0,0 0,0

How many pure-strategy Nash Equilibria does this game have?
LR L Ak R s A 3 42

0

1

2

o 0w »

3

Consider a firm that is operating in a competitive market, where the market price is p*. Which of the
following shaded areas does not represent the firm’s producer surplus?

BARRATTFTH T8~ Mg H pro TIIR—ALA T8 IR IKD> RREKEAT B89 4£ = #

&2
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$/output unit $/output unit

MC(y)
AC(V) AC(y)
7) /&VC,}}’)
y* y
(A) (B)
S/output unit $/output unit
MC(y)
~(y) AC(y)
AVC,(y) AVC(y)
3}* y y* y

© (D)

7. Mei is good at baking bread. Her bread is made from wheat-flavor, peanut oil, and butter. The number of
loaves of bread that she makes is f(w, p,b) = min{w, 3p + 2b}, where w is the number of bags of wheat
flavor, p is the number of bottles of peanut oil, and b is the number of pieces of butter that she uses. The
price of a bag of flavor is ¥ 12. The price of a bottle of peanut oil is ¥ 9. The price of a piece of butter is

¥ 5. If Mei makes bread in the cheapest way possible, how much does it cost to make 60 loaves of bread?

AR R Z AP RAR R R 6L, SR DR Edy. A MRk, HARBE G O ANRT AT
Af(w, p,b) = min{w, 3p + 2b}. X Zwk 7HT A/ DA @A RE . pRTRRAMGRK. bR TH b
B3, R D EEHONAER 12 TR, HABNARA 9 THR, Haia&A 5 T3k, HiER
REBFREGTXERHE@O, IF2BE 60 MmO RAZ

A. ¥720
B. ¥870
C. ¥900
D. ¥1,320
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8.

10.

11.

Mei’s preferences over hot pot and LV bags can be expressed by the utility function U(h,b) = In(h) +
4In(b), where h and b are the units of hot pot and LV bags that she consumes. The prices of hot pot and LV
bags are py, = 200 and py = 8000, respectively. If Mei earns a salary of ¥ 40,000 per month and spends
it all on hot pot and LV bags, how many bags will she purchases in each month?

D AEE R KA Fe LV 696, 6, o S 3t i 3 AF 7 S 694053 7T & 2 A # U (h, b) = Inh) + 4In(b) & =, #

¥ hAebpAlkTKMF LI KE. o KA Ap, =200, &M Ap, =8000, 4 A
I A 40,000 T, AR2AMEHSFEIACE?

A 1
B. 2
C. 4
D. 6

The production function of a competitive firm is described by f(x;,x,) = 4xi/ ZX;/ % The prices of factors

land 2 are w; =1 and w, = 36, respectively. The firm’s marginal cost is

XRRAEST WA BHA(x,x,) = 4% x,/20 RHAEFZEONESHNA: 0, =1 and
wy =360 M2AZ] BEIATFARAE

A. decreasing and then increasing as output level increases ([ /= = 4938 7w £ F [4 )6 L)

B. constant for all output levels (R = 89K L MK %)

C. always decreasing as output level increases (K& /= & 6938 Au fn T [4)

D. always increasing as output level increases (¥ /= = 69 3% 4o fq L F)

Suppose Xiaoniu and Aima are duopolists in the electric vehicle industry. The two firms compete with each
other by setting output levels simultaneously. The market demand for electric vehicles is given by p =
420 — 0.2Q, where p is the price measured in yuan and Q is the quantity sold. Xiaoniu has constant marginal
costs of ¥ 60 and Aima has constant marginal costs of ¥ 30. What is the price of electric vehicle in
equilibrium?

NFFeI LR B F) E AT IE K, CNRA T e 0 S RET S . THELRT AT Hp =
420-0.2Q, XEZ p RUALNELZWEHEMNK, QREHEFHHELE aud%% R A% A5
T 60 T, XHEATRAAA 30 T, AT HAHBTGEHENKZS S

A. ¥170
B. ¥310
C. ¥280
D. ¥210

Suppose LGM is the only producer of chili sauce in the market. The demand for its product is given by
Q = 700 — 5P. LGM’s production function is given by Q = min{L, C/4} where L is hours of labor and C
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12.

13.

14.

is the amount of chili used. Factors prices are given by w;, = 20 and w¢ = 2, respectively. What will be
the profit-maximizing output level and price?

BXE FHBRFTHFE—GRELZ T THHREGERL[HAHQ=700—5P, £ TFHay £ > L
#AQ = min{L,C/4}, X B L Fo C 9 AIREEZHREIIE A G 7 Thetimtif . $425 16
IR Aw, =20, FERBONE A0 = 2. FFEEE THBAER KRG RE = ERNEH RS
7

A. Q=265 P=87

B. Q=280, P=284

C. Q=300, P=80

D. Q=330, P=74

The market demand for a good y is given by y = 256/p2. Only two firms produce this good, firm 1 and
firm 2. Their cost functions are c;(y;) = (y1)? and c,(y,) = (y2)?, respectively. If firm 1 and firm 2
agree to collude to maximize their joint profits, how much will each firm produce?

T TR B S0 F LB KNy = 256/p*c RARKLLAEZ—TH P2, WHEL | fobl
20 XA RELRAZZD A e (y1) = (y1)? F2 co(y2) = (72)%e 2 REMFATEHF AR KLE
RIS, B R LAt TSV $la6hE R

A. 2
B. 5
C. 10
D. 12

Suppose Xiaoniu is the dominant producer of electric vehicles. After making ¥ 10,000 fixed investment,
Xiaoniu is able to produce an additional vehicle at the cost of ¥ 500. In addition to Xiaoniu, there are 5
other firms which also produce electric vehicles. However, since these firms are much smaller than Xiaoniu,
they just take whatever price set by Xiaoniu as given. Suppose each small firm faces the cost function
C(y) = 1000y + 5y2. The total market demand for electric vehicle is Q = 1000 — P/10. Xiaoniu is aware
of the cost functions of its competitors. What price will Xiaoniu set for an electric vehicle?

NEREF EIT LA SR, AT T MME 10,000 TE B R EF G, DFT AL 500 TE R AL
TR E, BT NFZNTHFPEELERLC S KEHELTH, ARV T4,
WEAMAEL DR TGN, F—FR D LedE = HEAC(y) = 1000y + 5y2. THEE KSH
#AQ=1000—-P/10, I F s LCEFHFHRARZI . FEDFH CONKESV?

A. 1,250
B. 800

C. 1,500
D. 1,140

After several years of rapid expansion, Xiaoniu has become the only supplier of electric vehicles in both
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15.

16.

China and the US. The demand for electric vehicle in China is Q; = 200 — p; where p;is the price in
China. The demand in the US is Q, = 150 — p,/2, where p, is the price in the US. Suppose the two
markets are separated and resales are not possible. Xiaoniu now faces a cost function given by C(Q) =
40Q + Q?, where Q = Q; + Q,. Then the difference between the price charged in China and that charged
inthe USwillbe

2 TILFHRRYTKZE, MRATFEREE—WEHEL . Lit, TET Stz £
YK B AQ, =200 —py, XZ&p, AT EMNLHEMNK; FEGEFRKIHHKANQ, =150 — p,/2,
XEZMp, REBON#E, B PERANTHAMELIGEH, —BEH T ELEFFMNMEGE ) 54 F
FLEFII—ABER. DFORAZHTAHCQ) =40Q+Q?, XEZHQ=0Q, +Q,. HF/NF AT £

AEEENERZERS S ?

A. 14
B. 32
C. 50

D. None of the above (i it 37 #f 7= %)

Consider a company that produces instant noodles at a constant marginal cost. This company is the only
supplier in the industry and sells its products to two separate markets. Suppose the firm can set different
prices in the two markets. The demand function in market 1 is q; = 200p™* and the demand function in

market 2 is q, = 200p~2. Then the price ratio 2 will be ?

P2

ERNS) AR @ITRE—ERNE, ZNS) AR RARME 2L E ML T RIRZ N3] 67 o4
ERAR 28T 3, B LIz 8] T A X AAT FIRE RR M4 . T % 1 89F K& Aq, = 200p~*,

T2 0EKHH A, = 200p~2, iﬁl“;]iZ/A\ﬂ&ﬂﬁ/l\ﬁ?%iy’iiéﬁfl‘#%itb%% %7
2

A. 12

B. 2

C. 2/3

D. No enough information to determine (13 & T~ %, FikH|MF)

A monopolist faces a cost function given by c(y) = y?2. The market demand is D(p) = 120 — p, where p
is the price. Suppose the government imposes a tax of ¥ 20 on each unit of product produced by the
monopolist. How much of this tax will pass through to consumers?

E R RHARAS R ACY) =y, THELDHHAD() = 120 — po ILAE AT A B 4
A5 P BB 20 TTEIA B, FFEAICT R R E RIS A S 7

A. Y0
B. ¥5
C. ¥10
D. ¥20
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17.

18.

Shen Teng and Jia Ling are the only consumers in an exchange economy. Shen Teng has utility

US(Xng) = 3x; + x5 and endowment (oof, oo%) = (4,2). Jia Ling has utility Ul(xll,xlz) = x]1 + XIZ and

endowment (u)ll, u)lz) = (0,2). If Shen Teng’s origin is in the bottom-left corner and Jia Ling’s origin is in

the top-right corner of the Edgeworth box, which of the following best describes the contract curve?
Tl e 57 25 — ARG AR 89 AL T U A A T s R BAS A AUS (xS, x35) = 3x% +
x5, A ERAY (0}, wl)=(42). TAGXAIHAU(, ) =x +x), LwiZrmHy

(wl, wh) = (0,2)0 Ha RIM R K AL T A AR &L TG AL LA AR SRS AT
ARA T PR — R A it T = ARG 2 4.7

e

A diagonal line from Shen Teng’s origin to Jia Ling’s origin (4% WU A= 57 24 )8 2 6931 A &%)
The upper edge and the bottom edge of the Edgeworth box (3% 47 KA 49 L34 48 F= T 11 4E)

The upper edge and the left edge of the Edgeworth box (3% 4 KT 7 A& [ 49 L i 4 F= £ 31 4E )

©o o w »

The bottom edge and the right edge of the Edgeworth box (3% 3 A Af 77 4E |8 89 F 14 AE Fo 25 L AE)
Which of the following statements about game theory is TRUE?
T RVIR—AS K T8 69 5L 2 E #6992

A. A game must have at least one Nash Equilibrium, which could be in pure strategy or mixed strategy

(—MEFE S B/t s, € TRZLRRE ., LT RIS R A3 H)

B. A game cannot have more than one pure-strategy Nash Equilibrium (— AN 75 69 4b, 58 & 49 1+ 35 7 4
BAAREAL 1A

C. There always exists a Nash Equilibrium that maximizes the total payoffs of all participants (/% & # /&
—AMEIF A B A KM S R KA 1A 3 )

D. Dominant strategy equilibrium may not be Pareto efficient (& £ 5 & 3 7 =T 48 T 52 b R 4 h 2 £ 49)

Answer questions 19-21 based on the following information.

RIET @O EEAE 1921 &

Suppose that a honey farm is located next to an apple orchard. Let the amount of apples produced be measured

by A and the amount of honey produced be measured by H. The cost functions of the two firms are Cy(H) =

2
and Ca(A) = — — 2H. Both the honey and the apple markets are competitive markets. The prices of honey

and apples are both $2.
BIEX—MREFETFERBFL, FROFERAN A, ¥ENFELAH Ho REDFFERRBORAL
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A A CH(H)—— and CA(A)———ZHo BRBERTHANT LTS T EEfRFERLHN
I H 2.

19.

20.

21.

If the two firms operate independently, the equilibrium amount of honey produced will be

Je REZA R LR ZBE, HIHLERFEAHSZ)?

C. 150
D. 200

Suppose that the honey and apple firms merged. What would be the profit-maximizing output of apples for
the combined firm?

ERRELHTT A, RALSHBELAERKGEEZ2H ?

A. 50

B. 100
C. 150
D. 200

Suppose the two firms stayed separate, how much would honey production have to be subsidized to induce
a socially efficient supply, i.e. a quantity of supply that maximizes total profits of the two firms?

ABAR T KA A R Ik 5 4275, ﬁZﬁi}T %—i‘l’—@:${+*§>§1\ﬂ’7/if"’*l‘%uﬁi FHEWY T 2D

AR (LA R 2B RALIFA R ook B AR KA 7 8)?
A. 0
B. 1
C. 2
D. 3

Use the following information to answer questions 22-23.

HIETF )45 8. = 4 22-23 A4,

There are multiple firms operating in a competitive market. Each firm has a long-run cost function given by

LTC = g3 — 12q2 + 40q, where q is the output level of each individual firm. The market demand function is

given by D(p) = 40 — p, where p is the price.
EReEFTHY A SR, HF—FRELKIRAZHHHHNLIC = g3 — 12q% + 40q, XE4) q K
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REBEANTRNGFE. THELXLHAD(p) =40 —p, XL p K& & BT HNH,

22.

23.

24,

25.

What is the long-run equilibrium price in this market?
% AR NAER S 7

Al

B. 4

C. 6

D. 34

What is the long-run equilibrium number of firms in this market?
ERKINT HH M0, SV RELETHFLE?
A. 4

B. 5

C. 6

D. 7

Consider a 2-good, 2-consumer exchange economy in which good 2 is the numeraire. If the equilibrium
price of good 1 is p; = 10 and the net demand for good 1 is 10, what is the net demand for good 2?

EMEFR—AAFT S, AHEZFHOLEIREH, AUABFR2ME0 TN, R B 1639
BAEA 10, AR 18 EEA 10, AR R 20845 ELXRS VY

A0
B. -10
C. -100

D. None of the above (£ 2 31 Af R 3t)

Two stores are located side by side. They attract customers to each other (due to spillover effects) and to
themselves by advertising. The profit functions of the two stores are (45 + x,)x; — 2(x;)? for store 1 and
(90 + x;)x, — 2(x,)? for store 2, where x; and x, are total advertising expenditures by stores 1 and 2
respectively. If each store sets its advertising expenditures independently (as in Nash equilibrium), how
much would store 1 spend on advertising?

TR JEAMARAR, TATRITAT B4 5 XABRME. BT/ 2 AAEHAE, —RHEHS %
FH R A G C A E R, EARR S — R GG AEE. BB 1 R85 HH (45 + x)x; —
2(x,)%, T1/E 2 89 A1 A (90 + %)%, — 2(x,)%, X B #x, Fox, S A AT 6 1 A6 2 894 %
B, mBARHERNRSERE Q05 5h, MALMTABRTE 1O 2 hH 507

A. 18
B. 20
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26.

27.

28.

C. 15
D. 23

A consumer’s utility function is U(xq,x;) = (x1)%2(x,)%8. The price of good 1 is p; = 1 and that of
good 2 is p, = 1. If the consumer has an income of 100 yuan and the price of good increases to p;’ = 2,
while the price of good 2 stays at p, = 1. Which of the statements is correct about the change in the demand
for good 1?

K A A EOR B H AU, x0) = ()2 ()% Tt 1 a94ivdbpy = 1, W& 2 ##dbp, =1,
HRHMNAN 100 To 22 R S0 1 694 LA Ap, =2, B 2 9MAEKFEp, = 11E, TR
—AH KB e 1 FH R T RE R EHAE?

A. The substitution effect decreases x; by 8 units and the income effects decreases x; by 2 units (#4X
BLAL B e 1 69 F Ky 8, AL B s 1 8F KR 2)

B. The substitution effect decreases x; by 2 units and the income effects decreases x; by 8 units (F4X
BEAE R oo 1 69F KD 2, MABEEE = 1 89F KR 8)

C. The substitution effect decreases x; by 4 units and the income effects decreases x; by 1 unit (34X
RRET S 1 AERRY 4, KAXRETSE 1 HFEKRY 1)

D. The substitution effect decreases x; by 1 unit and the income effects decreases x; by 4 units (/X

HEAET S 1 ERBY 1, MAKEET S 1 E KB 4)

A consumer has a utility function U(cq,c,) = cyc,, where ¢; and c, are the consumption measured in
yuan in periods 1 and 2, respectively. The consumer has no income in period 1, but will earn m, yuan in
period 2. The consumer can borrow and lend at the interest rate r. If the interest rate increases, which of
the following will likely occur?

HOATA EA2), HHTHEAFS | RAMN, E£F 2 HOBEANAmM, T; BT L 6941 £ g b4
Fo daRAFE LS, THHR—FHARA TRAL?

A. The consumption in period 1 would not change and his consumption in period 2 would increase (% 1

HHFRE, F 28k L)

B. The consumption in period 1 would decrease and his consumption in period 2 would increase (% 1 #A

BT, %2804 % )

C. The consumption in period 1 would decrease and his consumption in period 2 would not change (% 1

HE TR, F2ERRE)

D. The consumption in period 1 would increase and his consumption in period 2 would decrease (% 1 #A

Bk LA, B2HER TR

Consider the production function f(x,y) = 2(x%1 + y°2)2. Which of the following statement is correct?

TRIXT A~ HEAM(xy) = 2% +y*O)2 8 TREk, R—AAEH)?
A. Tt exhibits increasing returns to scale (FLEE 1R Bt 1% 38)
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29.

30.

B. It exhibits decreasing returns to scale (HL4% 3R BH i %)
C. It exhibits constant returns to scale (FLEZ IR B 7~ )
D. None of the above (VA _EAR T 3t)

A monopolist has two factories, denoted by A and B. Their costs functions are C5(qa) = 494 + 5 and
Cg(gg) = 2q3 + 10, respectively. The market demand functionis D(p) = 50 — 0.5p, where p is the price.
What is the profit for this monopolist?

X EMSLIAA AFBANL, CNORAB[E S HHCy =495 +5, Cg =295 + 10, EFqa, g5
RBNL 8. THERLHZAD() =50—0.5p, KB p AT HMN4. #HFZ LB ALY
FEZLS ) ?

720
730

735

o 0w p

740

Consider a consumer who only purchases good 1 and good 2. When the prices were p; =5 and p, =1,
the consumer chose the bundle (x4,x,) = (6,3). Now at the new prices, (p7,p3), the consumer chooses
the bundle (x4,X,) = (5,7). For the consumer's behavior to be consistent with the weak axiom of revealed

preference, it must be that:

RHEFHRMEAMA S, B 1 oWSD 2. SHEMNENp, =5 F p, = 10, HEFWXRGH
%gﬂé\(xl,XZ) = (6,3)0 %ﬁ%fﬁ*&gﬂg(pi, plz)H‘j—, ;ﬁ%%ﬂgyﬂ:éﬁﬁ%éﬂé\%(xl,XZ) = (5,7)0 ﬁU%
HRHWITHEBETRFRL B, TFIM— T LR 2

A. 4p, < p}
B. pi < 4p;
C. 5p; <p;
D

. P <5p;
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1.

i
X

y

A At HAL (R34, 40 9)

&
&

Consider a market for electric vehicles with demand given by D(p) = 100 — p. Xiaoniu is a producer in
this market, facing a cost function given by c(y) = 20y.

BMEFER—ACHNEFTE, ©OFEKXHKLAD() =100 —p. MFRZTHFH—ANELZH, THY
AL H A c(y) = 20y,

1) Suppose Xiaoniu is only supplier in the market. If Xiaoniu performs first-degree price discrimination,
how many vehicles will be produced? What will be the producer’s surplus? Briefly explain what the
deadweight loss will be. (4”)

BAR DA ZT HGRE—EF B R DFRT BN, MANFEFGCHEREA
20 AFEREASZ T (AEMBR)VRIBREASD?

2) Suppose in addition to Xiaoniu, another firm, Aima, also produces electric vehicles. The cost function
for Aima is given by c(y) = 30y. If Xiaoniu and Aima simultaneously set output levels, how many
vehicles will be produced by each firm in equilibrium? What is the equilibrium price? (4)

BRI N9, B —E MR B e L s F e F, ZIE R AL HLc(y) = 30y. R
A Z BB E B RETTF, MAZLLGHHEZELS ) ? HETHANERS V7

3) Suppose in addition to Xiaoniu, another firm, Aima, also produces electric vehicles. The cost function
for Aima is given by c(y) = 30y. Xiaoniu is the market leader and set its output level first. Aima set it
own output level after observing Xiaoniu’ output level. How many vehicles will be produced by each
firm in equilibrium? What is the equilibrium price? (4’)

BRI Db, B —E MR B e L s F e F, ZIERALHLc(y) = 30y. R
FRFTHAFH, FRERF, ZREAR DTN EEABFATHAE, NASELLGHY
WMEERZV? THNHEAS ) ?
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4) Suppose in addition to Xiaoniu, two other firms, Aima and Lamborghini, also produce electric vehicles.
The cost functions for Aima and Lamborghini are both given by c(y) = y? + 20y. Xiaoniu is the price
leader in the electric vehicle industry. The other firms take the price set by Xiaoniu as given. What is
the residual demand function for Xiaoniu? How many vehicles will be produced by each firm in
equilibrium? What is the equilibrium price? (5)

AR 230, BN R Bk A MR R e A S £, ke 21K
FHHACY) = y? + 20y, EALHEITLONTGH, & B 1R AL
R WA AR ERBIA L SRS ERS D DT NGRS
57

2. Consider the famous two-player game called “Chicken”. Two teenagers (A and B) drive toward each other
at great speed. Each player has two possible strategies, Swerve (S) and Drive Straight (D). A player who
chooses to Swerve is called “Chicken” and gets a payoff of 0, regardless of what the other player does. A
player who chooses to Drive Straight gets a payoff of 2 if the other player swerves and a payoff of—3 if the
other player also chooses to Drive Straight. The payoff matrix for the game is the following.

HAMNFR—ANZF L “5587 HE, ANDFRAABANTIEN AT HI, ARSEIRE TR
AEME®AT. BAVDFREA AR R BHS)RET(D). L3 T EBRA L, RFR S
B AHR AN AT “5538 7, FRIFIKEN 00 e F—ANDFRAEFTAIT, 5 ARBFES, A
HBATeY N FRIEl T AT, REKEA 2; mRXAANDFRARFALT, NEFER, &HRF-3
B o TR 6 SE e T P T
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B
W#HS  HATD

W HES 0,0 0,2

HITD 2,0 -3,-3

1) Find all pure strategy Nash Equilibria. Are these equilibria Pareto efficient? (4”)
B PR A s R g A 3 . X B R b R AL MFE 7

2) Find a mix-strategy Nash equilibrium. (4’)
KRS RN,

Consider an exchange economy with two consumers (A and B) and two goods (x; and X,). Consumer A
has utility function UA(X?, X?) = (X?)2/3 ()(‘9)1/3 and endowment (w{\, w‘z*) = (30,60). Consumer B

)2/3

has utility function UB(xlB,XZB) = (X]13)1/3(X]23 and endowment (wlB,sz) = (60,30).

BMNFE R ARG ERNETRHA A B). A B B(R s | oo 204 HEF, HEE AW
OB 3 A UA (xS, x8) = (x2)7°(xA) 2, A #inds A (wh, wd) = (30,60): %% B &R &
2 S T1B(wB «BY) — («B)Y3(B)2/3 1 ds Tk b (nB (B —

#AUB(xE xB) = (xB) " (xB)™", B avms ZWA(w?, 0b) = (60,30).

1) Is the initial endowment Pareto efficient? Explain. (3)

7R SR A5 B A M R AR M END? BERE,

2)  Express the equation for the contract curve in terms of x4 and x5. @)

KRl B TAL, HiE A AxE o xb R K,
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3) Let good 2 be the numeraire. p, = 1. Find the competitive equilibrium price of good 1, p;. (5)

Fhs 2 AT N4, Bitp, =1, REFHABAT S 1 890 Hp,.

4) What are the equilibrium consumption bundles for A and B? (3”)

EEWH M, HEHF AFRBOETASEAMNA?
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